JRA +  (list)

—TEDORNDEXRZ, OFBLLE, =3Iz, EFR{FTITTIHT=
T—2EE.
Az 1) A~ (linear list) , %, I (sequence)

JRX FDH
FEBFSOILDV
5090046 5090023 5090004 5090032

)X FDRE (VR FOHWERT—42E)
MEAE, EX0EM, B (nEH) . HIE,
R BEIN-EFZET) |
BINER, BROEXR, KBEER ZRER.
)X +MEE - 78l - B8 - ERHY
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1 RTEHIZELD R FDEHR

K= === 08
W1 U=

0 data-0
JAFDRKEESHANDESE 1 data-1
SHEIIFTE=0 (1) . 2 data-2
HEINTULSRE~NDEM, HIKRIE, 3 data-3
n/,/ 2 ~ 0O (n) . °
B, HIRERICHECERE, 5

BESES. n -2 | data—x

BEERIEX, n. 2 ~ 0 (n) .
n- 11 data-y
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EFEEY X+ (linked list) [2&AYURMDEIR

IL: DVAMEFRDT—2E, ROEIDOFRESGR%
IRHBT—FBIE.

Z2DT—% | ROEILOBGFR

FIESAZIEET S5 & T, ROEILEDLE,
JARET B

46 | &#—> 23 | &#—> 04 | =—> 35| /
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B iR

(structure)

BHDT—2Z2F LD,

struct personal |

int id;
int lang;
int math;
};
int main() {
struct personal ken;
ken. id = 5101; ken. lan

printf (" %d, %d ¥n”,
ken. id,

Q

= 90;

ken. lang + ken.math) ;

S

THDE SR
Jx AN
Jx AN
Jx AN

/* FEER

ken. math = 95;

J1

FREES */
EEE D AR
HFDRAE

*/
*/

MOEE */

/¥ ADINANDKA */

/¥ PRBEBSDRER */

/* EE’

e
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R4 >3 (pointer)

AFEYLIZHAT—EDT RLRET—ADKRE=TZIEZED.

BHELEH LKA 8 OB

int main () {
int k; /* int Z k *x/
int *p; /* IRA BT
p */

k = 3;
p = &k; /¥ T RFLREE */
printf ("%d, %d, %d ¥n”,

k,

*p, /* RS +/

xp + 2);

— k4 — J d

BEAREHERA 2 DA

int main () {
struct personal ken;
struct personal *q;

ken. 1d = 5101;
ken. lang = 90;
ken.math = 95;
q = &ken;

printf (“%d, %d ¥n”,

ken. 1d,

ken. lang + ken.math) ;
printf (“%d, %d ¥n”,

q->id,

q->lang + g—>math) ;
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BERIZEDEZILDER 1

struct list elm0 {

int id; /* BRT—4H x/

struct list elm0 =*next; /¥ RDEILDIZBET */
}i

JRX bk 46 23 04 35

BEARER a b c d

a (46, b~ADOEKRAHA)
— b (23, c~DRAUAR)
— ¢ (04, d~NDODHKRAHF)
— d (35, end )

_ 46 | #—> 23 | #&—> 04 | e=—> 35| /
SBEt )L Ist

| &—> |46 | &> 23 | &—> 04 | =—> 35| /
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#include <stdio. h>

struct list elm0 {
int id;
struct Ilist elm0 *next;

}i

int main(void) {
struct list elm0 Ist;

struct list elm0 a, b, ¢, d;

struct list elm0 x;

|st. next = &a;

a. id = 46; a. next = &b;
b. i1d = 23; b. next = &c;
c. id = 04; c. next = &d;
d. id = 32; d. next = NULL;

46
23
4
32
\ 4
X = |st;
while (1) {
if (x.next == NULL)
break;
X = *X.next,;

printf ("% ¥n”, x.id);
}
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BERIZCKDEILDERR2 GRELEEODT—4)
FERS: 46 23 04 32 -

2 HI : Beth John Mick Kate

struct list_ elml |
int 1d;
char name[21] ;
struct list_elml *next;

}i

F—&, =TT —2DHEEFRE LT-
JR kb — @EMEIJX b (association list)
FEE: d XX —LLT, WA THRATIEE.

|st | o—> 46 | #—> 23 | &#—> 04 | &#—> 32| /

algorithm@sis



~ 3

EEAEMERTOREE

#include <stdio. h>
#include <string.h>

struct list_elml |

int id;

char name[21];

struct list_elml =*next;

b

int main(void)
{
struct list _elml
Ist, a, b, ¢, d, x;

|st. next = &a;

a.id = 46;
strcpy (a. name, “Beth”);
a.next = &b;

b. id = 23;
strcpy (b. name, “John”) ;
b. next = &c;

c.id = 04;
strcpy (c. name, “Mick”) ;
c. next = &d;

d. id = 32;
strcpy (d. name, “Kate”) ;
d. next = NULL;

. = st 46 Beth

while (1) { 23 John

if (x.next == NULL) |4 Mick
break; 32 Kate

X = *X.next,
printf ("%d %s ¥n”,
X. id, X.name) ;
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TIVICEL HER) X MEEDFHEE

BN, HIfg: HBEINTULBLHEDEZAANDIEMD,
HIBRIEZ, O (1) .
RAADEZTHRZ TT L.

B EFE: n./ 2 ~ 0 (n)
— MNEDETEYT LH=HIZIT,
S, ERNIDE
JR MEE, VA FRE|:

RS, MBEDRAS VANBRESNTLINIL,
o (1) .

JAMER, VAMERHE: O (n) .
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E®wYX L+ (circular list)
HIREZRDIET N, FKEEXR, F£f(E X FDEE.

WAHMEY R+ (doubly-linked list: MWAHMREL!) X K)
RODEBEADIRA B2 ELELIC, ERIDEZAD
A R EHD.

struct list elm2 |
Int 1d;
char name[21];
struct list_elm2 * previous;
struct list elm2 * next;

}

ETEMED, HIRO, BiN, HIERHA, O (1) THHE
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